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QUESTION 1

An RSVP enabled router receives an RSVP reservation message for a new RSVP path. The router is unable to
accommodate the reservation request. 

Which action does the router take? 

A. The router sends a ResvErr message to the upstream router. 

B. The router sends a ResvErr message to the downstream router. 

C. The router sends a ResvTear message to the upstream router. 

D. The router sends a ResvTear message to the downstream router. 

Correct Answer: D 

 

QUESTION 2

You have a stub OSPF area running in your network. Your supervisor has asked you to build a virtual link across this
area to connect new equipment acquired in a recent ISP acquisition. Which statement is correct about this scenario? 

A. Type 5 LSAs would be blocked in a stub area. 

B. Type 5 LSAs would carry external information across your transit area to the backbone. 

C. Type 5 LSAs would be seen only in the newly attached area. 

D. Type 5 LSAs would be converted to type 7 LSAs. 

Correct Answer: A 

 

QUESTION 3

Which two problems occur when increasing numbers of users are added to an Ethernet LAN with no switches present?
(Choose two.) 

A. There is a greater chance for collisions to occur 

B. The MAC table sizes increase 

C. Some devices will not see certain traffic 

D. There is unnecessary consumption of network bandwidth 

Correct Answer: AD 

 

QUESTION 4
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Which statement correctly describes the metric used for IS-IS? 

A. The IS-IS metric is calculated based on a reference bandwidth of 10 Mbps by default 

B. By default, IS-IS interface routes are assigned a metric of 10, regardless of actual link speed 

C. By default, the Junos OS sends only wide metrics to allow any single link to have a metric as high as 63 

D. For proper operation, the same metric value should be specified at both ends of an IS-IS link 

Correct Answer: B 

The protocol IS-IS does have an ability to use reference bandwidth to dynamically calculate link costs, but the default
behavior has a value of 10 assigned to all transit interfaces. 

 

QUESTION 5

You want to configure an interface on your router to use an IPv6 global IP address. 

Which three methods accomplish this task? (Choose three.) 

A. Use stateless autoconfiguration to assign only the 64 bit interface ID. 

B. Use stateful autoconfiguration to assign only the 64 bit interface ID. 

C. Use stateful autoconfiguration to assign the entire global IPv6 address. 

D. Use a statically assigned global IPv6 address. 

E. Use stateless autoconfiguration to assign the entire global IPv6 address 

Correct Answer: ACD 
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